April 27 Math 1190 sec. 63 Spring 2017

Section 4.7: Optimization

Find the volume of the largest right circular cylinder that can be
inscribed in a sphere of radius 10.
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Random Questions
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Graph of f”
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Figure: The graph of f/(x) is shown in the upper left. Which of the three
graphs could be the graph of f(x)?
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Figure: Evaluate the given limit.
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Graph of f

. The graph of the piecewise-defined function fis shown in the figure above. The graph has a
vertical tangent line at x =—2 and horizontal tangent lines at x =—3 and x =—1.What are all
values of x, —4 < x < 3, at which fis continuous but not differentiable?

(A) x=1
(B) x=-2 and x=0

@x:—Z and x =1

(D) x=0 and x=1
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If f(x) = /1 g

1+Int

dt for

x>1,
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Find the derivative of the function

f(x) = tan?(logs X).

(@) f'(x) =sec*(logs x)

@ #(x) 2tan(logs x) sec?(logs X)
xIn3

() f(x)= %’[an(log3 x) sec?(logs X)

_ tan3(logg x) 1
B 3 xIn3

(@) f(x)
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